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39- 1 wish |..... the university exam next year.
1) pass 2) could pass
3) will pass 4) passed
40- Would they have cometo theclassif they......
1) know 2) knew
3)have known 4) had known
41- Thefood we ate yesterday smelt....
1) badly
2) awful
3) well
4) disappointingly
42-1 don’t want that watch. It is...... expensive to buy.
1)so 2) very
3) too 4) such
43- When thetreefell, therewasaloud.......
1)accident 2) crash
3) voice 4) damage
44- Many students........... in to the shop to buy the new
book.
1)attacked 2) attended
3) achieved 4) crowded
45- Why areyou...... hurry. we have so much time.
1in 2) at
3)ina 4) ata
46- | like British......... morethan American.
1) language 2) accent
3) voice 4) tongue
47- Do you know that for dinner you should have alight.
1)lamp 2) meat
3) mea 4) ceiling

48- Intheir culture, people....... themselveswhen they meet
each other.

1)watch 2) laugh
3) increase 4) introduce
49- Which word has a different stress syllable?
1) program 2) chinese
3) machine 4) university

50- Could | have a taxi, please.
1) yes, you can have one
2) what address are you calling from?
3) yes, you can buy one
4) why do you want ataxi?
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